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HSC Mathematics

Total marks - 120
Attempt Questions 1 - 10
All questions are of equal value

Answer each question in a new writing booklet.

Question 1 (12 marks) Marks

(@) Calculate the value of \/(7.2)2 — (3.6)2 , correct to 3 significant figures. 2
1 . . .

b) Express with a rational denominator. 2

(b) Express ———

(0 Solve x*-3x=0 2

(d) Solve [x-1=4 2

(e) Theline 6x—ky =2 passes through the point (3,2). Find the value of k. 2

(f)  Express 2.405 as a mixed numeral. 2
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Question 2 (12 marks)

(a)

Differentiate with respect to x.

(i) 2e* cos X
i X
X
Find
M [e™dx

(ii) IOZ (sec? x — x)dx

3

Evaluate ) 2"

r=1

(Start a new booklet)

HSC Mathematics Trial 2011

Ten kilograms of chlorine is placed in water and begins to dissolve.
After t hours the amount A kg of undissolved chlorine is given by

A=10e™.

(i) Calculate the value of k given that A=3.6 and t=5.

Answer correct to three decimal places.

(ii) After how many hours does one kilogram of chlorine remain
undissolved? Answer correct to one decimal place.

Marks
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Question 3 (12 marks) (Start a new booklet) Marks
(@) Solve for x if 4* =32 1
(b)
y
KD N
@
0
/@ X

The points A, B and C have coordinates (2,0), (1,8) and (8,4)
respectively. The angle between the line AC and the x-axis is 6.

Copy this diagram.

(i) Find the gradient of the line AC. 1
(ii) Calculate the size of angle @ to the nearest minute. 1
: . . 2
(iii) Find the equation of the line AC.

(iv)  Find the coordinates of D, the midpoint of AC. 2
(V) Show that AC is perpendicular to BD. 2

Question 3 continues on next page
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Question 3 continued.

(©  The diagram below shows a native garden. All measurements are in

metres.
/ e
2| & il 3
5 5 5 5
(i) Use the Trapezoidal Rule with 4 intervals to find an approximate

value for the area of the native garden.

(ii) If 25 millimetres of rain fell overnight, how many litres of rain
fell on the native garden. Assume 1 m*® =1000 litres
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Question 4 (12 marks) (Start a new booklet) Marks

(@) Boxes are stacked in layers, where each layer contains one box less than
the layer below. There are six boxes in the top layer, seven boxes in the
next layer, and so on. There are n layers altogether.

(i) Write down the number of boxes in the bottom layer, in terms of 2
n.
N 1 2
(ii) Show that there are En(n +11) boxes altogether.
(b)  Find the value of k if the sum of the roots of x* —(k -1)x+2k =0 is 2
equal to the product of the roots.
(©) Inthe diagram below «DEF = /DHG,DE =3, EG=4, FH =5 and
DF = x. Copy the diagram.
(i) Prove that ADEF is similar to ADHG . 2
(ii) Hence find the value of x. Give your answer to 2 decimal places. 2
(d) Theline y=mx+b is a tangent to the curve y = x® —3x+2 at the point 5

(-2,0) . Find the value of m and b.
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Question 5(12 marks) (Start a new booklet)

(a)

Three markers are placed out to sea. Marker B is 4 km north of marker
A. However to sail from A to B a boat must first sail from A to Con a
bearing 050° and then turn and sail from C to B on a bearing of 310°.

(i) What is the distance from A to C? (to the nearest km)

(ii) Calculate the distance from A to B through C. (to the nearest km)

In a school the student population is 45% male and 55% female. Two
students are selected at random to represent their school.

(i) What is the probability that both are female?
(i) What is the probability that one is female and the other is male?

(i) What is the probability that neither student is female?

A car windscreen wiper traces out the area ABCD where AB and CD are
arcs of circles with a centre O and radii 40 cm and 20 cm respectively.

Angle AOB measures 120°.

‘4/_\3 Not to scale
S
(]

(i) What is the exact length of arc AB?

(ii) What is the area of ABCD? Answer to the nearest whole number.

HSC Mathematics Trial 2011

Marks
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Question 6 (12 marks) (Start a new booklet)

(a)

(b)

(0)

The shaded region in the diagram is bounded by the curve y=x*, the y

axis and the line y=4.

y

Calculate the exact volume of the solid of revolution when this region is

rotated about the y-axis.

The third and seventh terms of a geometric series are 2.5 and 40

respectively.
(i) Find the common ratio.

(ii) Find the first term.

The equation of a parabola is given by y = x* —4x+7 .

() Find the coordinates of its vertex.

(ii) What is its focal length?

(i) Find the equation of the tangent at the point P( 3, 4 ).

(VM For what values of x is the parabola concave upwards?

HSC Mathematics Trial 2011

Marks
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Question 7 (12 marks) (Start a new booklet) Marks

(@) A particle moves along a straight line so that its distance x, in metres
from a fixed point O is given by x =cost+t, where t is the time
measured in seconds.

(i) Where is the particle initially? 1
(ii) When does the particle first come to rest? 2
(i) Where does the particle first come to rest? 1
(iv)  When does the particle next come to rest? 1
(V) What is the acceleration of the particle after % seconds? 2

(b) A flat circular disc is being heated so that the rate of increase of the
area (A in m’), after t hours, is given by Z—?:%ﬁt . Initially the disc has a

radius of 2 metres. Leave your answers in exact form.

(i) Find the initial area. 1
(ii) Find an expression for the area after t hours. 2
(i) Calculate the radius after 2 hours. 1
(iv)  How long does it take for the area to increase by 25%? 1

10
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Question 8 (12 marks) (Start a new booklet) Marks

(a) Consider the curve given by vy :%x4 -x°.

(i) Find the coordinates of any turning points and determine their )
nature.

(ii) Find the coordinates of any points of inflexion. 2

(i) Sketch the curve and indicate where the curve cuts the x-axis. 2

(iv)  For what values of x is the curve concave down? 1

(b) Monique has set up her superannuation fund and after 10 years she has

accumulated $134 000. However due to an accident she is no longer

able to work and make further contributions to the fund. Monique is

leaving the money in the superannuation fund to accumulate interest at

8% p.a. compounded annually. However she needs to withdraw

$24 000 at the end of each year for normal living expenses.

(i) Show that at the end of the first year she has 1
$(134000x1.08 —24000) in the superannuation fund.

(ii) Find a similar expression for the amount in the fund after 3 years. 2

(i) Hence find how many years the fund will last before there is no 2

money in it.

11
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Question 9(12 marks) (Start a new booklet) Marks

3

(@ (i) Express sindcosé + CC?S 0 as a single trigonometric ratio. 1
3

(ii) Hence solve sin HCOS¢9+CC_)S;:l for 0<0<2r. 1
sin

(b) A can of soup is the shape of a closed cylinder with a height h cm and a
radius r cm. The volume of the can of soup is 400 cm’.

(i) Find an expression for h in terms of r. 1

(ii) Show that the surface area SA cm’ of the can is given by the

formula: 5
SA=27xr? +@
r
(i) If the area of the metal used to make the can of soup is to be 3
minimized, find the radius of the can to the nearest centimetre.
(¢) Itis assumed that the number N (t) of ants in a certain nest at time
t>0 is given by
A
N (t) =
® 1+e™
where A is a constant and t is measured in months.
(i) At time t =0, N (t) is estimated at 2x10° ants. What is the value 1
of A?
(ii) What is the value of N (t ) after one month? 1
(i) How many ants would you expect to find in the nest when t is 1
very large?
(iv)  Find an expression for the rate at which the number of ants 1

increases an any time t.

12



International Grammar School HSC Mathematics Trial 2011

Question 10 (12 marks) (Start a new booklet) Marks
(@ (i) Sketch on the same number plane the graphs of y=sin2x and
y =1-cos2x over the domain Osxs%. 2
(ii) Write down the values of x for which sin2x =1-cos2x in the
domain OSXS%. 1
(i) Evaluate the integral J? (1—c0s 2x —sin 2x)dx . 2
(iv)  Calculate the area between y=sin2x and y=1-cos2x over the
domain Osxs%. 2
(b) Two equal circles with centres O and P intersect at X and Y as shown in
the diagram. The centres of each circle lie on the circumference of the
other circle.
X Y
(i) Calculate the exact area of the region XOYP. 3
(ii) What fraction of the circle centre O lies outside the region XOYP. 2

End of paper

13
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I X dx

j 1 dx

I e™dx

I cos ax dx

Isin ax dx

I sec? ax dx

I sec ax tan ax dx

1
="

HSC Mathematics Trial 2011

STANDARD INTEGRALS

n+1

—ix ,h=-1;x%0,if n<0

n+l

=Inx, x>0

1.
=—sinax, a0
a

1
=-—cosax, a=0
a

1
=—tanax, a=0
a

1
=—secax, a0
a

1 X
=—tan*=, a=0
a a

4 X
=sin*Z, a>0, -a<x<a
a

:In(x+\/x2—a2), X>a>0

:In(x+\/x2+a2)

NOTE: Inx=1log, X, x>0

15
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HSC Mathematies Yearly Examination 2 | 4 i 2 Marks:
® —-2¢" cos x = 2¢”(—5in x) +cos x2e” :
Worked solutions and marking guidelines : dx Correct answer.
=2¢"(cosx —sinx) 1 Mark:
Applies the
I Solution ) ' Criteria product rule
@ [ - 6§22538.. . . o} 22) | 4(tanx) xsec? x—tanxxl 2 Marks:
(i) i x = & Correct answer.
. 6149 (3 S\'% %58) @ . l xseczx—t;nx 1 Mark:
=i ' : Applies the
7o) x quotient rule
] 3 .
o = V712 T2 - V7+2- ((3) Jedsmretre e Comect
HERE T 3 | 30) : —
t,l( ) g T - 2 Marks: |
@ @ I; (sec x~x)ebe = tanx—E:L Correct answer.
2
T
) | 222 2= 0 . n’ (E) (mo 02] 1 Mark:
X (::\:. .‘3): o ® . 4 2 2 InIegrat‘cs
(=1 © -5
o ' : 32
i@ - 2 | & oo, o - | 1 Mark: Correct
. = - 27 =204+27"42 *
:CDI-Q- oS- 1=l | merk . g + AnsSwer.
¢ = o= -
=3 €4 ¢4 =1+l+l =li
) 2 4
2(d) A=10e" ' 2 Marks:
- D 3.6 =106 Correct answer,
&) ~when ==3 =% 3 6E) - 2k=Z 1 (O e™ =036
- B-2Kk=2 ' ~Sklog, e =log, 0.36 . 1 Mark: Makes
. ~-2Kk=—{{ ke log, 0.36 some progress
k=8 et (D . -5 towards the
=0.2043302495 ~ 0.204 ‘ solution
a 2 A=10e" '2 Marks:
1 2 g (it} Correct answer,
on= 0-405050S. .. .. o’ 1=10¢™2* / '
wooxig;%gos"m . __@ gc;-qu'OS “ oM 20 ]
o € 5 - hooox = [24.05.05.¢ ~0.204..x¢xlog, e=log, 0.1 1 Mark: Makes
s vy BxX= D458 ..C _ log, 0.1 ' SOme Progress
9902 = 401 L) — ___@ @ -G ! -0.204 towards the
=401 . ) .204... _
x ‘?4;?0 499 7 qqo% =235 - =11,26893888..~11.3 hours solution
) x= 235
490 2

= 7 4aoL
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3() 4 =32 1 Mark: Correct
@y =2° answer.

2x=35
x=2.5
3((1]_;) Gradient of AC 1 Mark: Correct
M= 2o answer.
=%
_4-0_4. 2
8-2 6 3
3(!3) Gradient of AC 1 Mark: Correct
(i) 2 answer,
tand ==
3
8=33"41"
3_(_1_3) Point slope formula 2 Marks:
(iif) Yy =m(x-1x) Correct answer.
2
y—0=§(x—2) 1 Mark:
Substitutes into
3y=2(x-2) point slope
2x-3y-4=0 form
3_(") Mid-point formula 2 Marks:
() L _2+8_5 _Whtn .__CI+4__2 Correct answer.
T2 T2 YT T 1 Mark: Finds
Midpoint is (5, 2) one solution
3(®) | AC is perpendicular to BD if mm, =—1.

) I_Prp g e 2 Marks:
Gradient of AC is /3 Correct answer.
Gradient of BD M=22-2_8-2_6 _ 3

Hn-% 1-5 -4 2 1 Mark: Makes
Now mm, =-1 SOme progress
towards the
2 x— 3 =-1(True) solution
i 2
3(e) h h
@ | 4750 +2d,+4)+2(d, +2d, +d) 2 Marks:
5 5 Correct answer,
=-2-(2+2><4.5+5.1)+—2—(5.1+2><3.6+0) 1 Mark: Uses
S . trapezoidal rule
=7l m
3(c) | Now 25 mm=0.025m V=4h 1 Mark: Correct
(i) =71x0.025 answer,

=1.775 m® =1775 Litres

4(2) | Number of boxes in each layer from the top are an AP: 6, 7, 8... ¢ 2 Marks:
@ T,=a+(n-)d Correct answer.
" 1 Mark:
=6+(m-1)x1 Reoogaisss AP
=6+n-] and using nth
=n+5 term formula
4@ Sum the boxes in each layer. (a=6 and /=r+35) 2 Marks:
(i) n Correct answer.
S, = -2—(a +1) 1 Mark: Makes
n 1 some progress
==(6+n+5)=—n(n+11) towards the
2 2 solution
4(b) b (k-1 2 Marks:
a+f= 2T (k-1 Correct answer.
c 2k
=—=T- 1 Mark:
Correctly
Now (k-1)=2k calculates the
k=-1 sum or product
4} | lUper ol U pGr 2 Marks:
® |- /DEF = 2DHG (given data) Correct answer.
£ZFDE = £HDG (common angle)
ZDFE = /DGH (angle sum of a triangle is 180) loMzrk: Shows
e . som
@EF is similar tc@DGH (squiangular) understanding
4{c :
(Ei)) 3 .= (corresponding sides in similar triangles) 2 Marks:
x+5 7 Correct answer.
xt+5x=21
x'+5x-21=0 1 Mark:
S Correctly
o 3ENS —dxIx 21 matches the
2x1 corresponding
524109 sides
2
#2.72 or -7.72 (ignore this answer)
4(d
@ y=xt-3x+2 At the point (-2,0) ﬂ=3x(-2)z -3=9 | 2 Marks:
dy dx Correct answer.
?d—x' = 3.1'1 3
. 1 Mark: Finds
Point slope formulay—y, =m(x—x,) the gradient of
y—0=9(x—-2) the tangent.
y=9x%+18

Hence m=9 and =18

-
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5(a)
®

Ac 4

T

Sindo Sngo
AC = 4sin50
Sn§e

= 34 Km,

2 Marks:
Correct answer.

1 Mark: Makes
SOme progress
towards the
solution

5(a)
(i)

Br
LI 4BC is an isosceles triangle £CAB=/CBA
Total distance travelled =2x AC
=4.413511676...
~ 4.4 km

2 Marks:
Correct answer.
1 Mark:
Recognises an
isosceles
triangle or
caleulates BC

5(b)
M

P(FF)=055%055 o\
=0.3025 496

1 Mark: Correct
answer.

5(b)
(D

P(MF or FM)=0.45x0.55+0.55x045
=0.495 or _ﬂ,j_,
2 00

2 Marks:
Correct answer,
1 Mark:
Calculates
P(MF) or
P(FM) only

5(b)
(i)

P(MM)=0.45%0.45

=0.2025 or __g_l.

1 Mark: Correct
answer.

5(c)

@

120 = 1222 1=r6
180 9
2 . = 40x-—£
=3 radians 3

_soz
3

1 Mark: Correct
answer.

5(c)
(i)

Area of sector ABO = —;-x 40% x ZT,T

_ 16007
3

Area of sector CDO = %x 20° )»:-23—7r

_ 4007
3
1600z _ 400z
3

3

Area of ABCD =

=400x
=1257 cm?

3 Marks:
Correct answer.

2 Marks:
Makes
significant
progress
towards the
solution

1 Mark: Uses
the area of a
sector formula

HSC Mathematics

6@ | Now y=x*oryt =x* 3 Marks:
4, Correct answer.
Vaf dy 2 Marks:
U o Makes
_ﬁJ.n vy significant
1 progress
=gl L towards the
3 2 solution.
ST (3 g
=54 -0f) 1 Mark:
167 Correctly sets
=3 up the integral
6((*)’) T,=ar*=2.5 and 2 Marks:
1
T, = ar’ = 40 Correct answer.
ar® 40 .
Divide the two equations ~—=-— 1 Mark: Uses
ar® 25 the formula for
r'=16 the nth term of
rF=+2 a GP.
6(_]_’) Substitute £2 for 7 into the equation  ar® =40 1 Mark: Correct
() a(iz)ﬁ =40 ANsSwer.
_40_5
64 8
G(C) y= x2 —4I+ 7 2 Ma.l'ks:

0] —(x-2)'+3 Correct answer.
yEEmE 1 Mark:
y—3=(x-2) Completes the
Vertex is (2, 3) i square

6(?) y~k=4a{x—h): Focal length is /s 1 Mark: Correct

(i) 1 answer.

. y—'.’a=4><z(x—2)2
6(c) . dy 2 Marks:
(iii) % =2x-4 At the point (3,4) —-=2x3-4=2 Correct answer.
Point slope formula y —y, = m(x—x,

? , :1_2 (_3 ) 1 Mark: Finds
y-4=2x-3) gradient of the
y=2x-12 tangent

6@) | gy 1 Mark: Correct
Gv) = =2>0 answer.
Parabola is concave up for all real x
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7@ | Initially £=0 1 Mark: Correct
® x=cosf+t=cos0+0=1 answer.
7@) Particle comes to rest when v=0
61} dx 2 Marks:
V= — Correct answer.
dt
0=—sin?+1
. 1 Mark: Finds
sint =1 .
an expression
f= 7_2{ seconds for the velocity
7(a) z
(iii) | When ¢== 1 Mark: Correct
answer,
T x
X =c0s —+—=— mefres
2 2 2
T(a
(i(v)) sinz =1 Next comes to rest at 5?” seconds | 1 Mark: Correct
T 5 answer.
t==—, —,..seconds
22
LC I 2-Marks:
4] a=— Correct answer.
’ =—gosf 1 Mark: Finds
z x an expression
When == a=-cos—=-0.5 for the
3 3 acceleration
7(,b) A=nrl=nx2t =4z m? 1 Mark: Correct
0] answer.
7(b) .
(Ei) A:_[—]qrrdr When t=0,4=4x ar=Lrot+c |2Marks:
8 16 Correct answer.
= im’ +e c=dx
16 1 Mark:
1 Integrates to
Hence A=—at* +4n
16 find 4
7(b)
(iiy | When r=2 d=toxpitn=tritn=1T7 1 Mark: Correct
16 4 4 answer.
Hence A=nar? r =g
177 3
——= X
4
7_('3) 25% increase in area 4 =1.25x47 =57 1 Mark: Correct
() answer.

Sw=gf 1dn
16

t =4 howrs

8(a) 1 3 dy
i =—x" —x Turning points =—=0 2 Marks:
@ d 2 dx Correct answer.
B op 2x*-3x =0
dx x*(2x-3)=0 1 Mark:
&y _ 2 3 Obtains the first
& 6x"-6x x=0,x =3 derivative and
dy uses Q =0 to
When x=0,y =0 and —-=0 Possible point of inflexion dx
dx ' find turning
3 27 . dy 9 - points
When x==,y=-=— and ~——;==>0 Minimum
PEEY TR ™M T
8(&) ' dly
(iiy | Possible points of inflexion —-=0 2 Marks:
dx Correct answer.
6x* —6x=0
6x(x—-1)=0
x=0,x=1 1 Mark:
Check for change in concavity Determines the
5 possible points
When x = —0.1then d-f—:sx-o.lx(-o.l-n:-o of inflexion but
dx : does not test for
dty concavity
When x=0.1then Iz—: 6x0.1x(0.1-1)<0
dy
When x=1.1then -&x—2= 6x1.1x(l.1-1)>0
Hence (0, 0) and (1,—-;—) are points of inflexion.
8(2) . 1 2 Marks:
@iy | Cuts the x-axis when y =0 or 0 =—2-x‘ -x Correct smswer.
15
O=—x'(x-2
5% (x=2)
x=0,x=2
1 Mark:
Obtains the x-
intercepts
3 I 1x

<
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Sf(a) Concave down for 0<x <1 1 Mark: Correct
(iv) Aanswer.
&(b) _ "

@ A=P+r) 1 Mark: Correct
=134000x (1+0.08)’ answer.
=134000(1.08)

After 1 year 4, =134000x1.08-24000
8(b) | After 2 years 4, = (134000(1.08) - 24000)x1.08 — 24000 2 Marks:
if
@ =134000x1.08% - 24000(1.08 +1) Correct answer.
After 3 years ) 1 Mark: Makes
4 =[ (134000 x1.08? ~24000(1.08 +1) | 1.08 - 24000 some progress
=134000x1.08" —24000(1.08" +1.08+1) towards the
solution
8(b) - . - 2
(i) After n years 4, =134000x1.08" —24000(1.08™" +1.08" +1) 2 Marks:
To find » when 4, =0 Correct answer.
0=134000x1.08" —24000| L% !
1.08-1
134000x1.08" x 0.08 —24000(1.08" -1) =0
10720 x1.08" —24000x1.08" +24000=0
13280x1.08" =24000 1 Mark:
ogr — 24000 Obtains a
13280 :::;-:ztsion for
24000
logl.08=log| ———
hxlog 0g(13280] j" as:)d uses

nw7.69 years

9(a) 3 1 Mark: Correct
4] sinf cos 9+ﬂ- = c—f’s—‘g(sin2 8 +cos’ B) answer.
singd sin@
=cot@
9(a) cot@=1 1 Mark: Correct
(i) 9oX o st answer,
4 4
9((3) V=arh 1 Mark: Correct
400=mrixh answer.
p=3%
r
) | §4=2mr%+27rh 2 Marks:
(i 400 Correct answer.
=2zr’ +2nrx—5
s 1 Mark:
=2mrt + 800 Applies the
r formula for the
S4 of a cylinder
9(b) 800
=2t
iy | SA=Zmr+= 3 Marks:
ds4 Ay —800r2 Correct answer.
——=4zr—800r
dr
- dSA _
Minimal S4 occurs when - - 0 2 Marks:
a_ Determines the
drr—800r~* =0 radins is
ar( =290 approximately
P 4cm
Hence =0 (no can) or 7z—¥=0
¥
1 Mark:
20
r=3 200 Differentiates
d the SA4 formula
=4 cm with respect
Check tor
2
% =47 +1600r>
=47+ @9
’
2
Atr=4 %>0 and is a minima
10
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9(c) 4
0] N = I—_:-e_—r 1 Mark: Correct
answer.
2x10° = 4
1+€°
A=4x1¢’
9(%;) When t =1 1 Mark: Correct
Ny = L_' answetr.
1+¢
_4x1 0’
14e?
=292423 ants
?](1‘:)) When £ — o 1 Mark: Correct
N = A _ answer,
1+e
_ 4x10°
1+e™
= 400000 ants
9(c} 4x10° 1 Mark: Correct
{iv) N({t)=—"7=4x10" x(1+e”')" '
lie answer.
.d%ﬂxm’x-lx(ne-')-* x~le”

_(4x10%)e” or Ae”
(+e') d+ey

11
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10(a)

Correct answer.
154 y=1-cos(2x)
1 Mark: Graphs
I+ one of the
equation
0sd correctly or
y =sin(2x) shows some
understanding
DRI DS YR S
10(2) B P 1 Mark: Correct
(i) |@=0or= answer.
10(a) x
(i) L’ (1 —cos 2x ~sin 2x)dx
| = [Jnr—--l-sin2x+lcos2.1c:|1 2 Marks:
2 2 a Correct answer.
x 1., x 1 T 1. 1
—[—2-—55m2x5+5c052XEJ—(O—-§sm2xO+Ec052x0] 1 Mark: Correct
_ E-l]-[l] :
2 2 2
=F_
2
102) | .=
(v) | [*(1—cos2x—sin2x)dx 2 Marks:
0 . ; Correct answer,
= _[f (sin2x ~(1~cos 2x))dx + _[E (1-cos2x—sin2x)dx
3
ol igee entamoea I o le o Leinars Leosax I
= —-Ecos x—x+Esm x+| + x—Esm x+-2—cos x| 1 Mark: Makes
’ O significant
_ x 1 1 T 1 a1 progress
_(0_14’5“(“5)]*'(5"'2"(?_5)) towards the
211 7 1 7 1 solution
e it et e B
4 2 2 2 2 4 2

=1

12
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10()
; 3 Marks:
@ p
orrect answer.
2 Marks:
Makes
significant
progress
towards the
solution
Area of segment XYP
A= %r’(@—sin@)
= lrz(.zi_sinz_”) 1 Ma.rk:'
2 3 3 Recognises
equilateral
1 [—2—,-2-— - ﬁ} triangles or
2 (3 2 similar
Area of the region XOYP is twice the area of segment X¥P understanding
A=2x l r1 2_7:_ ﬁ
2 3 2
_p[2 B
3 2
10(b) | Area outside the region XOYP
(i) 2 Marks:
A= nrt—p3| 2E_ ﬁ Correct answer.
3 2
L)
3 2
1 Mark: Makes
2o :/_—fi progress
d 1 2 towards the
Fraction required is = " sohtion
z
LB
3 2z
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